#1





Change to decimals:

a) 



b) 



c) 



d) 



#2

Determine whether it is a rational number or irrational number.  Explain.

[image: ]


#3



Use or = to determine which rational number is greater.



#4



[image: ]





#5


[bookmark: _GoBack]Add integers.  Do not use calculator:

a) (-4) + (-5)


b) (-6) + (+1)


c) (+8) + (-2)


d) (+2) + (+5)


#6


Add decimals.  Use calculator if needed.

a) 
[image: ]

b)
[image: ]

c)
[image: ]

d)
[image: ]

e)
[image: ]

f)
[image: ]


#7

Add Fractions.  Do not use calculator:

[image: ]


#8

Subtracting Rational Numbers:
a)
[image: ]

b)
[image: ]

c)
[image: ]

d)
[image: ]



#9


Addition/Subtraction Word Problem:
a)
[image: ]

b)
[image: ]


#10

Multiplying Rational Numbers:

[image: ]


#11


Dividing Rational Numbers:
a) 
[image: ]

b)
[image: ]

c)
[image: ]


#12


Multiplication/Division Word Problem:

[image: ]


#13

Evaluate using Order of Operation.  Do not use calculator.
a)
[image: ]


b)
[image: ]

c)
[image: ]
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Place these rational numbers in descending order.

=2, 05,-18,-5,Z,2,-33, 12
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(+2.4) +(-1.7)
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(—8.93) — (+1.25)
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A guardrail needs to be exactly 19.77 m long. A contractor has 3 pieces measuring
2.21m, 9.14m an 3.21m, does he have enough to complete the guardrail?
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The temperature in St. John’s in 6.5°C. In Corner Brook it is 8°C colder. What is the
temperature in Corner Brook?
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3
A plane seats 480 people. If the plane is z full, how many people are on the plane?
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